



\$0.00

St. Louis County, Minnesota

Date of Report: 12/15/2025 1:59:20 PM

2025 - Total Due

\$0.00

		General Detail	s							
Parcel ID:	380-0010-07725									
Legal Description Details										
Plat Name:	GRAND LAKE									
Section	Town	nship Rang	е	Lot	Block					
36	5′	1 16		-	-					
Description:	cription: THAT PART OF THE W 392 FT OF LOT 2 LYING N OF MILLER TRUNK HWY EX WLY 196 FT									
Taxpayer Details										
Taxpayer Name	ANDERSON RO	ANDERSON ROGER & DIANNE								
and Address:	6000 S PIKE LAK	6000 S PIKE LAKE RD								
	DULUTH MN 55	DULUTH MN 55811								
		Owner Details								
Owner Name	ANDERSON RO	GER ETAL								
		Payable 2025 Tax Su	ımmary							
	2025 - Net Ta	9	522,549.00							
	\$29.00									
2025 - Total Tax & Special Assessments \$22,578.00										
2020 Total Tax & Operative Cooperative Coo										
		Current Tax Due (as of 1	12/14/2025)							
Due May 1	5	Due October 1	5	Total Due						
2025 - 1st Half Tax	\$11,289.00	2025 - 2nd Half Tax	\$11,289.00	2025 - 1st Half Tax Due	\$0.00					

Parcel Details

2025 - 2nd Half Due

Property Address: 6000 S PIKE LAKE RD, DULUTH MN

\$0.00

School District: 704

Tax Increment District: -

2025 - 1st Half Due

Property/Homesteader: ANDERSON, ROGER & DIANNE M

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$361,200	\$1,567,900	\$1,929,100	\$0	\$0	-		
	Total:	\$361,200	\$1,567,900	\$1,929,100	\$0	\$0	22864		





St. Louis County, Minnesota

Date of Report: 12/15/2025 1:59:20 PM

Land Details

Deeded Acres: 3.80 Waterfront: PIKE Water Front Feet: 196.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: P - PUBLIC Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

s://apps.stlouiscountymn	.gov/webPlatsiframe/					ax@stiodiscountymin.go		
		Improveme	ent 1 Deta	ails (RESIDEN	CE)			
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Des		
HOUSE	1996	3,860		3,860	AVG Quality / 3474 Ft ²	RAM - RAMBL/RN		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	0	0	200	WALKOUT BASEMENT			
BAS	1	4	22	88	WALKOUT BASEMENT			
BAS	1	4	32	128	WALKOUT BASEMENT			
BAS	1	6	22	132	WALKOUT BASEMENT			
BAS	1	10	24	240	WALKOUT BASEMENT			
BAS	1	10	28	280	WALKOUT BASEMENT			
BAS	1	28	22	616	WALKOUT BASEMENT			
BAS	1	32	22	704	WALKOUT BASEMENT			
BAS	1	32	46	1,472	WALKOUT BASEMENT			
CW	1	0	0	78	FOUNDATION			
DK	1	0	0	340	POST ON GROUND			
DK	1	0	0	803	POST ON GROUND			
DK	2	14	14	196	POST ON GROUND			
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count HVAC			
5+ BATHS	5 BEDROOF	MS	-		1	C&AC&EXCH, GEOTHERMAL		
		Improvem	ent 2 Det	ails (ATTACHE	ED)			
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	1996	1,28	30	1,280	-	ATTACHED		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	32	40	1,280	-			
		Improvem	ent 3 Det	ails (DETACHE	ED)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	1996	1,32	20	1,320	-	DETACHED		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	30	44	1,320	FOUNDATION			





St. Louis County, Minnesota

Date of Report: 12/15/2025 1:59:20 PM

		Improveme	nt 4 Dotaile	s (BOATHO	ISE/					
Improvement Typ	oe Year Built	Main Flo		ross Area Ft ²	-	ment Finish	St	vle Co	de & Desc.	
BOAT HOUSE	1998	41	6	416		-		,	-	
Segme	ent Story	/ Width	Width Length Area			Founda	Foundation			
BAS	0	16	16 26 416 FOUNDATIO			ATION	1			
Bath Count	Bedroo	m Count	n Count Room Count Fir			Fireplace Count			HVAC	
-		-								
		Improven	nent 5 Deta	ils (UPPER I	OG)					
Improvement Typ	e Year Built	Main Flo	Main Floor Ft ² Gross Are		ea Ft ² Basement Finish		Style Code & Desc.			
GARAGE	2002	3,1	08	3,108		- [DETACHED	
Segme	•		Length	Area		Foundation				
BAS		34	25	850		FOUNDA	_			
BAS	1	44	32	1,408	FOUNDATION					
	;	Sales Reported	to the St. I	_ouis Count	y Auditor					
Sa	le Date		Purchase Price			CRV Number				
1	0/1995		\$120,00	0			106758			
		A	ssessment	History						
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV		Γotal EMV	Def Land EMV	De Bld EM	g	Net Tax Capacity	
	201	\$361,200	\$1,567,9	900 \$1,9	929,100	\$0	\$0)	-	
2024 Payable 2025	Total	\$361,200	\$1,567,9	900 \$1,9	929,100	\$0	\$0		22,864.00	
	201	\$327,100	\$1,358,2	200 \$1,0	685,300	\$0	\$0)	-	
2023 Payable 2024	Total	\$327,100	\$1,358,2	200 \$1,0	685,300	\$0	\$0		19,816.00	
	201	\$353,600	\$1,509,7	700 \$1,8	363,300	\$0	\$0)	-	
2022 Payable 2023	Total	\$353,600	\$1,509,7	700 \$1,8	363,300	\$0	\$0		22,041.00	
	201	\$297,000	\$1,275,0	000 \$1,	572,000	\$0	\$0)	-	
2021 Payable 2022	Total	\$297,000	\$1,275,0	000 \$1,	572,000	\$0	\$0		18,400.00	
		٦	Γax Detail F	listory						
Tax Year	Tax	Special Assessments	Total Tax Special Assessme		le Land MV	Taxable Bui MV	lding	Total 1	Taxable MV	
2024	\$20,759.00	\$25.00	\$20,784.0	00 \$3	27,100	\$1,358,200		\$1,685,300		
2023	\$24,239.00	\$25.00	\$24,264.0	00 \$3	53,600	\$1,509,700 \$		\$1,863,300		
2022	\$22,873.00	\$25.00	\$22,898.0	00 \$2	97,000	\$1,275,000 \$		\$1,	\$1,572,000	





St. Louis County, Minnesota

Date of Report: 12/15/2025 1:59:20 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.